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General Instructions :

Read the following instructions carefully and follow them :

(1)
(ii)
§22)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

1.

16x1=16
When MnOs is fused with KOH in air, it gives :
(A) KMI]O4 (B) K2Mn04
(C)  MnyOr (D) Mn,O4
Ligand EDTA*~ is an example of a :
(A) Monodentate ligand
(B)  Didentate ligand

(C)  Tridentate ligand
(D)  Polydentate ligand

56/2/1-12 3 VWMWY P.T.O.



o (el e

3. fmafafea fome & @ wH-a Sicie apa ffda s g 2
9_
(A) 0204
B) CI'
(©) NO
(D) NH;

4. Tr=fcfga § @ frad sp? Gl e X § SAefd & 2
(A) CH,=CH-CH,-X
(B)
(D) CHy-CH,-X

5. feferfiga § @ $a-an gatfaes g 2 2

MTT

6.  UMEIA, HI % &1 AfIGHAT hieh <l & :



3. Which of the following ligand forms chelate complex ?

9—
&) €07
(B) CI°
(©) NOy
(D) NH;

4., Which of the following contains sp2 hybridised carbon bonded to X ?
(A) CHy,=CH-CH,-X

(B)
(D) CHy-CH,-X

5. Which of the following is most acidic ?

MTT

6.  Anisole reacts with HI to give :

56/2/1-12 5 VWMWY P.T.O.



7. WA 413 K W 915 Hy,SO, % |1 TH & T edl @
(A) C,H,0SO;H
(B) C,H;—O-CH,
(C)  CyHy—O0—CyH,
(D) CH,=CH,

8.  gal % forgarelt faeem &1 @A 37 A1 gal & FaeHs A et g
& 9 I8 :
(A) HJ« @
(B) U3 oM | geTeqeh T gurian 8

(C) T3ee TIm ¥ Fureqss fa=raH eerian 8
D) T3ee oy ¥ =15 fome 781 <ian 8

9. T sramasiia faoa & Sofia oo™ & a0 o9 <1 s /a8 0-0225
2 | Tarusiiel foca 1 Ard-2191 2

(A) 080
(B) 0-725
(C) 015
(D)  0-0225

10. NaCl® Sl faeee o foga-sTaeed o g -
(A)  HUI8 W H, (g) g Bl &
(B) el W Na ffifa grar 3
(C) I W 0, (g) Gk &It 2
(D) e W Cl, (g) o Bil 3



7.  Ethanol on heating with conc. H,SO, at 413 K gives :
(A)  CyH;OSOgH
(B) CoHz—O-CH;g
(C) CoHg— 0 - CyHg
(D) CH, =CH,

8. An azeotropic solution of two liquids has boiling point lower than either

of them when it :

(A) issaturated

(B)  shows positive deviation from Raoult’s law
(C)  shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0:0225. The mole fraction of the

non-volatile solute is :

(A) 080
(B) 0-725
(C) 015
(D)  0-0225

10. During electrolysis of aqueous solution of NaCl :

(A) H,(g)is liberated at cathode

(B) Nais formed at cathode
(C) Oy (g)is liberated at anode
(D)  Cly(g) is liberated at cathode

56/2/1-12 7 VWMWY P.T.O.



11. TEEMES R & e SR e 8 31fyfshan it Ffalaa 9amenst § 9
forEeR! afafda &t ar & 2

(A) T

(B)  HfhAT Sl
(C) wed

(D) 3@ Hal

12. forelt wafies sAfufshan P Q % T P’ o &9 8 <l &X, P’ <l Eigal gt
T T, 8 % U H ¢ Sl g | P’ o Ufd fufskan i whife ®

(A 3
B 4
C 2
(D) 1

gv7 &7 13 @ 16 & g, 31 &7 30 70 § — 94 v &1 sifaassaT (A) a@ar
g &1 HRUT (R) FIRT Sifeha (a1 71 & | 37 9971 & &gl 3w 714 130 7T Fist
(A), (B), (C) 371t (D) & @ e GHery |

(A)  SARTHA (A) 3R SR (R) g1 T8 8 3 SRl (R), 3fiheq (A)
&1 ST HLdT 2 |

(B)  AfYHA (A) 3T SR (R) HI T& &, T R (R), ke (A)
gl SITeAT T8l HLdT § |

(C) INhAA (A) Wl B, g HRUT (R) T 7 |

(D) AR (A) T 8, 9 SR (R) T& 7 |



11. The addition of catalyst during a chemical reaction alters which of the

following quantities of the reaction ?
(A)  Enthalpy

(B)  Activation energy

(C)  Entropy

(D) Internal energy

12. For the elementary reaction P—>Q, the rate of disappearance of ‘P’
increases by a factor of 8 upon doubling the concentration of ‘P’. The

order of the reaction with respect to ‘P’ is :

A 3
B 4
C 2
(D) 1

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

56/2/1-12 9 VWMWY P.T.O.



13.

14.

15.

16.

17.

18.

STIFIT (A) :

PRI (R) :

STIFHIT (A) :

PRI (R) :

STIFHIT (A) :

@RI (R) :

S7IHIT (A) :

SR (R) :

UfeAthiess wafies wiHl &1 fatem Afswa dfomss gvewor g

fopar ST TehaT B |

Ufeshd adse AfGee ¥ Ut RUREE o 91y AT

gfaedT T *ar 2 |

DNA # J&et & 3ufedrd giam 2 |

DNA TR0l hidl 2 |

tferthfess Wil & SR aun A ga °§ wWiAfes v
& SSUAIIH I 3feh TR gid 2 |

UfeAthfesh AT & SIEUSIAT |EUT SIS gIid 8 |

p-SITRI h & p-ATSERf AT goieT & 7 |
p-TEAN # SufEd — NO, @Hg 1 Seidgia 3IUHa JuTe

3 gl &R ST <dl & |

Qs @

o8 (HIeR go5|M = 180 g mol 1) 1 6% foeta foheft orata rsife Teref
% 2:5% fae@ & WY THUERT 8 | ST Hlafdeh ggred 1 A AR qiEhictd

HIT |

foreft worm whife sh1 arf¥rfspan w1 o feomish 1-25x 1073 571 B | 58 rfirhrdes
5g ol 2:5g U g U fehaaT a0 o ?

[log 2 = 0-301, log 8 = 0-4771, log 4 = 0-6021 |
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13. Assertion (A) :
Reason (R) :

14. Assertion (A) :
Reason (R) :

15. Assertion (A) :
Reason (R) :

16. Assertion (A) :
Reason (R) :

17.

18.

56/2/1-12

Aliphatic primary amines can be prepared by Gabriel

phthalimide synthesis.

Alkyl halides undergo nucleophilic substitution with

anion formed by phthalimide.

Uracil base is present in DNA.

DNA undergoes self-replication.

Diazonium salts of aromatic amines are more stable than

those of aliphatic amines.

Diazonium salts of aliphatic amines show resonance.

p-nitroaniline is a weaker base than p-toluidine.

The electron withdrawing effect of — NOy group in

p-nitroaniline makes it a weaker base.

SECTION B

A 6% solution of glucose (molar mass = 180 g mol™}) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2

A first order reaction has a rate constant 1.25 x 107> s™1. How long will

5 g of this reactant take to reduce to 2-5 g ? 2

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 |
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19.

20.

21.

22,

(%) IS IMMHad HAT 2 ? A-AAIIS AHa hl gorl H Th dad 8 G

T o T UfaeArag Ao AT gia1 & | 91 ? 1+1=2
Jrran
(@) GshHl 4Ty HUH TASdt & 3= A R gl 8 2 3d-20ft § fohm I
H1 HIH T TEH HH B 2 1+1=2
(%) Afiepi o FAfORed Fa 4 & SE-A1 Afes ifesd diaar @ Sy2
srfurfspan smum S =i 2
(@) fF=fafed @ gea g fofew . 1+1=2
Frfefaa ugl o1 afernfya $ifs - 2x1=2
(%) TR 1 fashedienton
(@) T9ga R
Queg T
frfafaa smffnst § A, B 3R C 6 vt Ry - 2><1é=3
- NaOH + B
(%) CHz— CHy—Br —SCN o i s B—22 ¥ L@
(@) Fe+HCl  , _NaNO, +HCl | CoH;O0H

273-278K



19.

20.

21.

22,

(a) What is lanthanoid contraction ? Actinoid contraction is greater

from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b) Why do transition metals have high enthalpy of atomization ?

Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

(a) In the following pair of compounds, which compound undergoes

SN2 reaction faster and why ?

(b)  Write the major product in the following : 1+1=2

Define the following terms : 2x1=2
(a)  Denaturation of protein

(b)  Invert sugar

SECTION C
Write the structures of A, B and C in the following reactions : 2x1 é =3
- NaOH + B
(@) CHg— CHy—Br — XN A OH P i TN

Partial hydrolysis

NaNO. + HCI
(b) Fe+HCl , a7y * , B e
273 _ 278 K
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23.

24.

25.

26.

56/2/1-12 14

feafafga 9 gag sAfufsean fafaw . 3x1=3

(%) dreHh-TrTR TT=—A
(@) farmEifeae Afufsran
() kit SAfifsha

frefefaa o fomm & fore sifufsranen & wftemor dfSw (18 #7) 3x1=3

fertfetfiga < fere s S - $xI=3
(%) FARH JUMU IO AIIh g & K Wl I8 WHREH Soiae et
yfaeemaa syfifsranett A et /AU facwe 2 |

(@) s fosror gaor sreules 8 R |

(M) AU FASS I 3UET Ut FAss Afers e o SaA-3a=fed &
ST 2 |

283 K W Torelt faamee 1 a1 g« 100 mm Hg g | 39 a7 Toe™H &1 am
e qitehictd hifve forem 283 K W fopeft yeiat fagga-emaeed AB &1 1 91
fa@me® & 50 A # gl & (I8 9H e b T AB quia: foeifSia &t e
2) | 3




23. Write the reaction involved in the following : 3Ix1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction

(¢) Cannizzaro reaction

24. Give the equations of reactions for the preparation of : (any three) Ix1=3
(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

25.  Give reasons for the following : 3Ix1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic

substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

26. The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

56/2/1-12 15 WAV NN P.T.O.



27. fr=fafga 9« 1 fa9.91. 96 (emf) dfesfea Hifse 3

Zn (s) | Zn%* (0-1 M) || Sn2* (0-001 M) | Sn (s)

[ log 10 = 1]

28, AU H 17°C ¥ 27°C T gfg i W forell e AMfshan o1 o o A1 =1
STt 8 | 38 3fufshan & for wfsheror ot o1 uftehe $ifsu | 3
[fe=n T 2 :2.303 R = 19-15 JK " mol L, log 3 =048 ]

Qusg ¥

HET1TIGT 7 Ha-3TTEMRT T97 & | T B S % 16T 3R 15T 7T F971 & I a7 |

29. HEEESE UiHl X TIURN g1 | Sfad & fou 11ewas gid 8 | el § w2
1 T 3R TR TATEHISH % &9 o HraigEee GUew ! % Wi e
B B | THEfee ¥ @ 3 uifcesgle Ufcesss stwar e B R
FEEES Hl TA-ITEHH H ITh FIER o YR W AHIGRES,
FTTERTEE 3T TS hses § Fiffchd Tl TRT & | Tt AHIAHUSS STa=mit
IR BT &, 1T I i AfRH a1 bl faeee | stieeishd &l I & |
I G R3S UrSladdlsl gidl @ 3T S8R TG T CgH, 506 TR
T | fafe= eifyeRdent S8 HI, HoN — OH, STHH i@, (CH3CO0),0 3c1(e
T ITHTRAT FHieh 3Heh! T H Toh Ufcsgise T9g, T WATHe Uewhigiclsh
T8 (— CHy0H) 3R =R fgdfioeh Ueehlgiicts @9g (> CHOH) dIT U |
ufcegTse HYg U Bid gu i ke Ufcegiss U il % AWGHRIT JH
o wlegor, NaHSOg 91TS T8 <1 8 | I8 | o o1 W1 aHuHIed &1
% 3Tfedcd ! FHTAT & oW TH=1aT shad C — 1 W A gEgiaad 99g &
formmer & Bt B
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27. Calculate emf of the following cell : 3

Zn (s) | Zn2* (0-1 M) || Sn2* (0-001 M) | Sn (s)

[log 10 = 1]

28. The rate of a gaseous reaction triples when temperature is increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK " mol %, log 3 = 0-48]

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH190g. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO0)90, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/1-12 17 WAV NN P.T.O.



(%) ST SR w1 Bl B 2 1

(@) WHAREd i AHARES 3R SEHHRUSS § Fihd HIT

A, hid, aed, Toiadd 1

() 3T Uiferdhss 1 AW St 8 Wit T’ el Srar 8 | 3| f

T Rl had 8 ? 2

HAAAT

(M) () M % 3 gUEIEl o AW Fa1sC e ThiT ®TH C — 1 W
— OH 99g o fa=ma § & fir=an gt 2 |

(i) TRE H Brg I@ b @1F AMAHAT TR TRMETcHS THE i
Iufedta shi g T & ? 2x1=2

30. THAY UGS h IGE U] Fedl SRM W d-herh YU BId 8 |
TS § AR Wik d-sherehi i Iufedfd ThAT qwdi i STESHHU dwdi
T L ¢l & | AT €9 W ARG d-HeTehi o SR A T o AT
0T SR &, 9 3T SATFEThUT FTEAT, TIF AT T ST AT 3Hh TR
% foTsl < a1y "t Fmior o7fe | FehauT aTgy aem Sk AR IoIeh! 07 &
IITFhT FaER Ht R & | TehAU 91U A HoR ql Fcq ATuRfie gt
8 | 3T ES 20 % WHl I Sita afadt ggfa gl 2 -




30.

56/2/1-12 19 WAV NN P.T.O.

Answer the following questions :
(a) What are reducing sugars ?

(b) Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose

(c) Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ?

OR

(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(ii)  Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured ions and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the El(\)/lz I values

shows the varying trends :



(0}
M2+/M
A% -1-18
Cr -091
Mn -1-18
Fe -0-44
Co -0-28
Ni - 025
Cu +0-34
Zn -0-76
frafaRea et & 3w @i -
(%) TorE STTUR W 80 %8 HWehd 2 fF Cu T TshHvT a8 AAfehd Zn & ?
(TEHTY] hATeh : Cu = 29, Zn = 30) 1
(@) HshHYT dea ATeTeRtur Sazernsti # fafaedt =i g § ? 1

(M () HHfemm @ G T El‘\’a%/M%maﬁaﬁﬁq@%ﬁmﬁ

g7
(i) TShA GTGSTT H AR ST hl THGA-IIdT STESHHIT T
i giEd-aar o fopd Jehr fi=T gieft & 2 2x1=2

AASAT

(M () Cr’t Yed AYEES & Seieh MnSt el AT ieheh, Seleh Al
& q* ofisfisr &, = 2
(TATY] ShHT : Cr = 24, Mn = 25)
(i) T st wfteRtor qui i 2x1=2
2MnO; + H)O+17 ——




E§42+/M
V -1.18
Cr -091
Mn - 118
Fe —-0-44
Co - 028
Ni - 025
Cu + 0-34
Zn - 076

Answer the following questions :

(a)

(b)

(c)

(c)

56/2/1-12

On what basis can we say that Cu is a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30)
Why do transition elements show variety of oxidation states ?

(i) Why do EK/I2 M values show irregular trend from Vanadium

to Zinc ?

(ii) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ? 2x1=2

OR

(i) Of the a* species, cr?t is strongly reducing while Mn3* is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(ii)) Complete the following ionic equation : 2x1=2

2MnO; + H)O+17 ——

21 VWAV VWV WAVVVAWVVIWWWAWVY P.T.O.



31. fr=fafga # 9 el gier & I dfST 5x1=5

(%) HATHRAHT THA hHl foheedt & faured il (4, FrE TR Iqshareha
G5 h fodTe HoAl (A) H FSA 7 2

o

(@) F=fafied % &1 IUPAC T4 fafEu

[PtCly(en)y] (NOg)q

()  GANShar AEY fHga (VBT) o YR W @%d [Ni(CO),] i SamtHfd
3R geehiy SEER fofau |

(") @A [Co(NHg)gl [Cr(CN)gl & G Tohl YohR hi THTGIGAT SRMg Tl
37

() forteat & figia & snur W foet Sugea Afe d 4* smee =
giagi-eh fa=amd gy Afe A < P 81 | &1 I8 IusgaAISH ANk 3=

kYT AT f ST Hehet B 2

NN\ e~

(&)  [Co(NHj3)gl®" 3 [Co(NH3),Cly]" H & M aiftdsh el 8 3N
I ?

(®)  [PtCly(en)ylt & JehTi3Teh HHTERIE] hl HTATE SATST |

32. (&) () F=ffea % @ro dfe
(1)  hIMT =t qoT | UfcggTgs! 1 SATafientur A8 gial 7 |

(2) UfceEESi % UTH (o) BTESSH THIST hl Thid 3Tl
Bt 7 |
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SECTION E
31. Answer any five of the following : 5x1=5

(a) How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A) ?

(b)  Write the IUPAC name of the following complex :

[PtClz(en)z] (NO3)2

(c) Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

(d) What type of isomerism is shown by the complex
[Co(NHg)gl [Cr(CN)gl ?

(e) For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

) Out of [Co(NH3)gl®* and [Co(NHj3),Cly]*, which complex is

heteroleptic and why ?

(g) Draw the structures of optical isomers of [PtClz(en)2]2+.

32. (a) (@) Account for the following :

(1) Oxidation of aldehydes is easier as compared to
ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

in nature.
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Gi) Tr=fafea stfufseanst & scae fafgu .

(iii) UIHTEh ITFA 3N VYA H fave & o v o gemtes ade
@t | 242+41=5

AT

(@) () AaAfcesEs & 2,4-SEEe B ARSI 6l TL=HT S8 |

(i) fAfafad 1 37 HON % gfd stirfsramsfierd % gd g¢ A |
afeyd iy :

CH3COCHj3 _ (CHg)3C — COCHg , CH3CHO

(iii) 39 ®Hd TR saEe o1 S=ligeh A d fhg YR

-
YT~ h] ?

4

(iv) wafcegse 3 Wd U fave = & fou ara vamfies gdem
fofew |

(v) Tafafea stfufseen @ g 3oarg fafae

o 5x1=5



(ii)

(iii)

(b) @)

(ii)

(iii)

(iv)

(v)

56/2/1-12

Write the products in the following reactions :

Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 242+1=5

OR

Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

Arrange the following in increasing order of their reactivity
towards HCN :
CH3COCH3 (CHj3)3C — COCH3, CH3CHO

How can you convert phenyl magnesium bromide to benzoic

acid ?

Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

Write the main product in the following reaction :

- 5x1=5
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33. ()

56/2/1-12

(1)

(i1)

(1)

(i)

0-05 M CH5COOH fo@@a @1 Ui 100 ¥ 9r& T | Ak
Ua s 00354 cm™! 2, @ WEHifts sra foemm Hl @ler

AT IRehied shifTT |

Hs o fagd-saged &1 YW FEw falew | 1 91 MnO,
Mn?* § 3792 % foru B2 # forde sawr ) sravgeRar gt ?
3+2=5

AASAT

0-0025 mol L, TEifesh o 1 ametehal 525 x 102 Sem 1§ |
Ife Ueifesw vl & fTT A, 1 @ 390 S em? mol™t &, 1

[N NN

gHehl YIS HIAT bl qiehar Eﬁli\aQ |

e HAH dell o UAlS, helle iR gay ifulhan fafaw | 3+2=5

26 AAAAAARMAAAAMAANAMANA



33. (a) (1) The resistance of 0-05 M CH3COOH solution is found to be
100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

(ii1)  State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to
Mn?* ? 3+2=5
OR

b)) @ The conductivity of 0-0025 mol L7l acetic acid is

525 x 10 S ecm ™. Calculate its degree of dissociation if A(;n

for acetic acid is 390 S cm2 mol_l.

(ii) Write anode, cathode and overall reaction of lead storage

battery. 3+2=5





